Name: Hour:

Proof and Logic Unit Review

Determine whether the conjecture is true or false. Give a counterexample for any false conjecture.

1. Given: Point B is in the interior of ZADC.
Conjecture: ZADB= Z/BDC  _.
rolse

Ne do nok now
\£ ﬁ \S on O““S\C
bisect.

2. Given: m* +6=10
Conjecture: m=2

22 4+b=10
4+l=10
Jjo =10

3. Given: Two angles are supplementary.
Conjecture: They are both acute angles.

False
’j one onagle must \oecob’vusc
u - oc Jooth be 90

Trué

4. Make a conjecture given that P is the midpoint of AB.

Manu options! AP = PR

‘ AN, PR R co\lwnear

5. Make a conjecture given that DE | EF

D
2DEF =Q0°




6. If ZY="7XY, then ZX = 8XY.

).[2Y] = TTXY J. given

2. ZX = XVY4YZ | A - Segment adoleon
3. 2% = XY +xy 3. Substrivien

4. 2X = < XY o CLT

7. Line KL is parallel to line NM. Line PQ is parallel to line 7U. If ZKRS = ZSMU, then /PRK = ZLMS.

). < KRS = 4SmMV J- given

£SMU+2LMS = (0 are sugpl.

3. 4KRSxePRL = LGMUFLLMS 3. 5w

H o <S + PRY =4LRS+4LMS 4. substriohen
5. <PR¥ =<LMS 5 . subiachen



Name: Date: Hr:

Parallels Cut by Transversals Proofs

1. Given: <72<1 and V& by
Prove: <52<3 ’ T

?
RakA - grven
L//p 7
. 25 % ?
&’47“-‘_:’45 af)'aHo.,re =
U5 3 sussohen
/7/. <5 =¢3 4 Subsfrvh o1

2. Given: w//xand gy // z
Prove: <1 and <4 are supplementary

) ‘;4,71" - loguen kS P

e 3/4 S
2. alt-nt. /
Q.4 = LZs 0=/, NN
LL/ 2‘_/ 7 7° ?
3 TR 3. Dok, &5 (.=

Y. 23+ =180 4. Linwar Pars are supl-
| L Q1¢Y=10 5. Sobsiriutien
4)34_(,_':'?0 b . Subshtution

A and < are 7. def of Supplemantary

< & O




3. Given: <i_z_<2 and 1 //p

Prove: <3 + <4 = 180° <
]. <) E22 ). gwen \ /
E :

2. alt. m’r s\ o/

——

0’) Y =¢|
3 <2+<3:=10 2. Lnear Palrs are Vppl-
Y 2]+<3=/80 4. subshihon
5, <1e3 =10 5. Subshivhon:

Determine whether the following statements are always, sometimes, or never true.

4. Two angles that are sui)plementary are complementary.

Never TTrue

5. Complementary angles are congruent.

80m€’\'\m€5 “Trwe (\-F we have ’5‘5" M3/65>

6. Write a two-column proof, \/ ol Aot ‘tr) Obc)
Given: 21 and £2 form a linear pair. e o \ \
£2 and /3 are supplementary. Ay AL N § v

Prove: /1= /3 \1{) LA EVICHA 4 :‘«»)37

) L/kl;; }_“\ L“,f\}.,
). <l and <2 fom o \wear par e gwen
<3 and <3 oave sypl-

. 4)¥¢d =160 . o). Linear paics are suppl
3. QA+ «3=|0 | 3. def. of suppl.
L/‘ <| +¢ 7 % L)4¢3 /'). Svesirivhon

5,423 5 svphacten




wePoof and Lo © Review Poct 1

28} Study Guide and intervention (continued)
T 9, Cbpy and complete the following proof, |
‘ Given: ZQPS = ,Tpp

- S
R
Prove: QPR = , 7pg : M
Proof:

Q P
Statementsg Reasons ,
R, VS =« TPR

. ).81\/@:’)
o AOPS = LQPR+ £Rpy - engle: odaleion
AP = ZTPS ¢ 2 oee

5 «QPRVARPS = P54 ROS
W QPR = ATPS

3. Subshdution
A Subtraction

C

. : A

i omplementary. \ ’ D
2DBE and /CBD form a right angle. ‘
Prove: /ABC = LDBE B E
Statements

/. ~ABC Y A0RD e (}@W)@\.
o4 DEE « £ C%D % N Cu ﬁfﬁi%‘%

angle
S ARBLEF4COD =0 9. def of compl
3 4DRE 428D = 90 3. def of mgm anjﬁa
L PREALORD -2 DBE + <(BD A Subshtudion
5. “ABC - < DRE 5. subtrachon

)‘8\ ven




&L ' ‘Complete each proof.

1. Giv'eh:A—E’ L BC; AL 2. Given: 21 and 22 /T
/1 and £3 are - 4 form a linear pair. - i
complementary. ' PsE 5 o msl+msz3=180 L B\
Prove: 22 = /3 Prove: /2= /3 3
Statements Reasons Statenients Reasons
. Q A ¢LZ Q\;"m O ‘ Ve
/ L}/% L EDC 1 8\\[6“_ , \ hraeo-c pand fj
2) s axe Compl . | L 42D =150
Z‘ Z F\\Q}C,:QO Z: C\@Q D\: A VL% 9. | +£2=1%0 2. hneac pous Ofe,SUﬁ?’-

2,£\%L3 = q0 13, det of compl| ATYA- SVARTS ) 2, subshiuhon

. . A
M2 a2 = dABC 1. angle addihen _ L
i} s\ ¥¢72 =90 5. g\?‘og—h\\ﬁ\on "} LA L) 4/,gub+rachm

D
LUL\{'LZ L\’\—L?) _@-5\ﬁb~>ﬁ’i\&h0r\

7 ep =iz [T sbioehn

4. zfcﬁnm in the hgh: ﬁmgp } AR = EF : | ] ;
‘ Hh= . QN€EN
| Euc, DE o 8
Z A-%+ BC=AC 2. ucamen’r C\ddr\wn
DE + EF -OF

3. BC+ AB =DF 3. Subs-\\—\whon

(S&me, as
AR+ BC

4 ac=DF 4. subsrhtion




2 Given: Ll= /4
Prove: £ 3and £ } are supplements. —~— / N o1 //
] 4] =4A /. given /f // hna"
" 2 43“’-) 180 2. linear pours are suppl.

Ba sl 8 2. Verkeal £'s e &= < AT wformahen
4. 43*4\ =180 4. substhdion W2 o % eed
5. L3¢ 4| axe 5. def of suppl.

supplements | | |

3. Given: 25 = 26
Prove: £4=/7

/. <5 =4, . given

2. 4H= <45 2. verheod <'S Qe =
<lo=4T

3.4 =40 2. subshihon

H. 2l =4 H . subshiuhon



2.7 Practice

Namse the definition, property, postulate or thercom illustrated.

Lea-oa Rellexive %Pef\\j

2. HAB = BC and BC = CE, then AB = CE.
Tronschve Brop. bQ 2

2104 is between P and B, then PR = PQ + QR, > ° -

Segment Addrhon Poghulate

4. IAB 4-BC = EF + FG and AR + BC = AU, then EF + FG = AC,

Subghtuhon

D WDE = GH, then GH = DE.

Symmetrie Prop.

Write a 2 Co‘llmﬂi proof for each of the Tollowing,

w Given: Cis the midpuint of B sud AL,
Prove: AB = DE

cC ow

[v=¥

@
A

1. C 15 Yhe mdpt of BDAE I g wen

2. BCL=CD 2.del of mdpont
AC =CE

3, gs*gc,.—.pcsc, | 3 . segmaent addehion

. %g:%ec,—: cO+DE H. substiuchon

5. AB+BC =BL+DE 5 . sdoshiuhon
le. A® =DE (o . SWstrachon
1. 1f LM = PN and XM = XN,
then LX = PX. )
[.Lm=ON, XM=XN  ).gwven -~
2.Un-= LX'fX“é1 2. segment agd\ﬁow
NP = pX4X
3 LN 4XM = PXXN 3. substduhon

+XM zPX+xM 4. subshiwhon
‘l’ﬁ - PX 5 . subtroefion




4 GeememBew T

/|- ARB =DE,f BCL=EF . gen

2. RL=AB +BC 2. segonent addchon
DF =DE+EF

3.DF: pax pl 3. suwbshiuhon
H.DF=pe 4. swbstrchon

/.SU =R, TU= LWV 1.3w'av
2.3U=ST+TU 2. Segment oddrhon
LR=LN+N&
2. ST +TUu=LN+ N 2. Subghiushon

4.8T +Tu=TU+NR 4. subshiuhon
5.5T =N§ 5. Subtrachon

Write a proof. #

. - s X

WL Gbven: @ i the midgoint of BD. \

’ D is the maidpaint of CF. 8
Prove: BD = CF - :

|. C 15 the mdpount of BD 1. gwen
D s 4he mudpornt of CE
2. ®C=CD, O :=DE . def of midpoint
3. BD =B +LED 3. segmunt addrtion

4 %g' :%g:gg +). 5 ubsiriution

5. aD=CE 5. Sukshittion




Awen: AR =RP
Pove @ aR:-pP

| Gn =P | guen
3.68:mpsne & SYment addehen
AP = A R+RP
3. BR:= RP+AR 3. Subshiuhon
4. BR=-pP H. subshtudion




